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—
Q! Questions >
L1 A B
1. |2sin 45° + 5 cosec 45°= 1 1 3 ° 2
4+ 2 3
o 1
g The value of Se€C (sm il _ _\/E 1 5 A
- 2 2 2 <
T cl +a1 b’
3 n any triangle ABC, s 7 _ cos a cos B ® cos ¥ cos (B + a)
ac —
4 |[Ifa=1,b=Sthen AxH= % 5 5 @ 5
2
2
5, |sin(-300°) = _ ﬁ ﬁ 0
— 2 ]
= e ' T T n T
G |Ir S8 %= J2 » then reference angle is: s 2 ® 3 2
T Every non-recurring, non-terminating rational @@mal whole natural
decimal represents number. N) ()
© 0
8. |Py=_____ O@é\ 18 36 120 @
’ in| ~ S (-2,2] -2 -1, 1]
Range of SIn (EJ is: QQS@Q /2] [2-2] ( .
10. |Ifa_, = 3n — 11, then nth term is&© ¥ +2 3In—-5 @| 3n+S 3n-3
11 |(AUB)E = V7 AUB ACB AUB® | ACB'@
12. [The product of thgg)\s\ﬁ equation x* 2 3 1 -1
+2x+1=0,is .1
x I/ 1 -
3. |1 4° =1/ thenx= 7 % 1 e 2
10, 2 = 0 J-1
14| Rank of the matrix [0 1:] is [
k 4 +36 £24 £16 % @
2 If t4 k‘ =20 then k=
T6 A C B then complement of A in Bl A-B B;A ANB AUB
(B-Universal):
— 1 1 - ] |
17. | _A | is a partial fraction of: NER o e -
x-1 x+1 5
. 0 i 1 |
18. |(Z, +) has identity element:
is: ) @ 1,0 .
19. | Multiplicative inverse of 0,-1) € G is: / ©,1) , (1,0) (~1,0) (L)
. i +b 3 n nerpt n LN fy T n AT ek k .
20. [(r + 1) term in the expansion of (a+b) Lr)a b. Lrjd b r)a b U)"‘ b
L] is: —

Page 43 of 44

Please visi for more Download PDF at: www.pakcity.org



Sahiwal Board-2024 ol S AT Gl

MATHEMATICS HSSC (11 1 Annual 2024
Marks: 80 Time:
Paper: | Subjective o :" ime; 2:30"
Note: Section B is compulsory. Attempt any THREE qucs(inns from Secti ;
SECTION - B a
Q2.  Write short . X2
(i) Facto:iu Q.am: RSN DeS (if) Define modulus ofnl «.omplcxbnumher_ =
A ylex num 1 i
(iil)  Find the multiplicative inverse of (~4. 7)- (iv) Express the eompies ™ P
form. v AR R .
(v) Writethe set {x|x € QA X’ =2). (vi) Convert (ANB) = AL )B' into logical fory
(vii) Define diagonal matrix and give an cxamP"c- -
(viii) Show that for a non-singular matrix A, (A7) T A | : e
(ix) Define co-factor of an element. () Solve ! —,x‘ »(; (xo— Xx -
(xi) Reduce x? - 10 = 3x I {0 quadratic form.  (xii) Show that X’ =¥ y Wy xx - .
03.  Write short answers to any Eight parts. _ X+ itlo peaper frau (8x2 .'i
(i)  Define improper fraction. o (i)  Change "7 per Iraction,
(i) Find 9 term of the sequence —3+~ 3~} (W) Fora” 2iy b= 41, show st Gha= 4 w3y
2 n
(v)  Find the first term of the geometric series if 8. = ("3)['5')
. N i) 16°C,="C
(vi) If ;' ¢ arein G.P, show that the common ratio is * | - (viD) +="C,,.find n,
(viii) How many triangles and diagonals can be formed by joining the vetices of 8-sided polygon?
(ix) Define cicular permutation.
3 l "
(x)  From the expansion of (—i{ - 5—) . find the sixth term from the end.
(xi) Expand (8 - 5,‘)'% up to four terms. (xii) Evaluate $f31 correct to three decimal places,
Q4.  Write short answers to any Nine parts. (Ox2 =
1
(i)  Express 8 = 120'40" in radians. @
(ii) Ifsin8= :—-'; and terminal arm of angle is in quad b@d tan® and cosf.
' & ; n
(iii) Find the value of sin(-300°). Prove that sin [ 0+ E) + cos(e + %) = Co§
(v)  Write down the half angle identity f . (vi) Define period of a trigonometric function,
2
(vii) Prove that period of sin funct n g (viii) Write down the domain and range for y=ty
(ix) Solve the right triangle Which y =90°, a=3.28, b= 5.74.
(x)  Write half angle f; sin(-}) and cos[ %) (xi) Define and draw an oblique triangle.
. . 4 -1 \/3- . . . .
(xii) Find the value of $in| cOS = (xiii) Find the solution x € [0, 2x], sinx = --3
SECTION -C
Note: Attempt any THREE questions. Each question carries (5 +5=10) marks.
Q5. (a) Solve the system of linear equations by Cramer's Rule.
2!|—h+la=' ’ x,+211+13=6 ' X1-le—l,=1
(b) Solve systems of equations. x + y = 5,x? + 2y2 = 17
x-10x+13
Q6. (a) Resoive G- TP~ Sc %5 into partial fraction.
(b) Show that the sum of 'n* A.Ms between a and b is equal to n times their A.M..
Q7. (a) Prove that"C, +°C,_, = "*'C,,
(b) M xis nearly equal to 1 then prove that px - q@ = (p - q)x**".
tan0+secO -1 " 120 12
— = -1
08. (a) Provethal (ung _secpiry o0 oecd (b) Prove that ™0 15" ]
09. (a) Ha+p+y=180%s
(a) B+y + Show that cota cotB + cotf coty + coty cota: = 1.

(b) Provethatr, + 1, + ry-r=4R
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rRoNo.] | [ T [ [ | crovefiiedinytecandidate)
Mathematics H.S.S.C (11%) 1* Annual 2023 Time : 30 Minutes
Paper:1 Objective - (iii) Marks : 20

PaperCode | 6 | 1 | 9| 5

Note: -You have four cholces for each objective type question as A, B, C and D. The choice which you think Is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A
Q.1 Questions A B C D |
l. | cos?x —sin’a@ = 1 cos2 sin2& sin3 &
e 1 -1 1 -1
2. | cos(sim'—=)= —_— e = ==
ey V2 2 2 2
s A As A
3. | n= il P
s§—a §—=a §—a sS+a
The expansion _1 Wyl 2 o
G| Vbt Pt x = (1+x) (-x)y (1+x) (1+x)
5. | The period of cosec &s. 27 7 % %
Solution of cotg= _Jl:which lies in T p é> P o
6. 3 - = @ 2 = =
[027] 3 @ 6 2
221 ? . :
7- | value of (=1) 2 is. < < £ %
G~
8. | The statement n! > 2" — 1 is true for % n=2 n<4 n>4
9. | ——= @Q: A R
| 2sina > L

\
N n! n! n! n
10.| n(n—1)(n—=2)....(n—r+)= (@)\’ ] (n—r)! (n+r)! C

A square matrix A=[ay] is@ﬁd)hennitian

— ' t — g —
1. matrix if: A=A A=A (A) =A (A )l - il
Next two terms of sequence
12,/ 50 12 16, s sl 21,27 21,26 20,27 20,26
13, For:mu.la for sum of an infinite geometric a,+(n-1)d a, a,(1-r) a,(r"-1
series is. T 1=r r=l
The rational fraction *- *1 js: ; .
14, e 2 Identity Irrational Proper Improper
15.| @2+ @ ¥+1= -1 0 1 2
16.| Which is an exponential equation? x*+1=0 x*+1=0 2x+1=0 2*~1=0
17.| Value of Eiszc@ pakcity.org %o 718 719 720 730
"
_la b
18. IfA-[c d]then [Al= ad+bc bc— ad ad-bc ac—bd
The number of elements in power set of
19. (0,1} are. 4 3 2 1
20.| 1+cot?g= cos?@ sin?@ cosec?d sec?@

323-14-18500 * %%
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Roll No. I ‘ I ‘ I ] (To be filled in by the candidate)

Mathematics H.S.S.C (11™") 1** Annual 2023
Paper: I Subjective

: 2:30 Hours

Note: - Section B is compulsory. Attempt any Three questions from section C.

2‘

ii.

iii.

iv.

vi.

vil.

viii.

ix.

X1.

Xil.

ii.

iil.

iv.

vi.

vil.

viii.

ix.

X1,

Xil.

SECTION-B
Werite short answers to any Eight parts.

Factorize 3x? + 3y%. c@ pakcity.org 99

Prove that 7=z iff 7 isreal.”

What is the difference between {a,b} and {{a,b}}?
Show that the statement is a tautology: ~q A(p—>gq) —> ~p

Define Monoid.

If A= [f g] , then show that 4A —3A=A.

Find the inverse of matrix [2‘ i ] :
-

Write any two properties of determinants. @@ 2

Solve the equation by using quadratic formula: / g{@? a*=0.

Define a reciprocal equation and give one %@

Prove that [l+\/—_3]9+[1—\/‘_:5. ! @
2

Discuss the nature of equation x? + 2x+3=0.
Write short answers to any Eight parts.
Define proper rational fraction.

Find a; and a; of the sequence in which @q =nan. and a=1

Which term of A.P; 5,2, —1,....is —85.

Sum the series 1 4 1 + ! +
Laale 1=p Loz

Define harmonic mean between a and b. Write its formula also.

to n terms.

Find the sum to » term of series whose nth term is 2n+3.

Write n(n—1)(n—2)...(n—r+1) into factorial form.

Prove that "C = HC'( -r.

Calculate number of diagonals of 5 sided figure.

Evaluate (9.9)°
12

Find middle term in the expansion of (l - %J
: «

Expand (8 — 5x)~%? upto two terms.

8x2=16)

(8 x2=16)
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2)

4. Write short answers to any Nine parts. 9x2=18)
i. Define the word ‘Trigonometry’.
ii. Convert 3 radians into degree.

iii. Findsin@ and cos@ when @ =_'% .
4

Iv.  Express cos76 —cosé as product form.

: ; 12
v. Find the value of sin 2 & when sina@ =1—5, where O <& <2—r.

Vi.  Find the value of tan 1050 ;

vii.  Find the period of cos X .
6
Viil. - Solve the right triangle, in which @ =58°13 b=125.7 and » =90°.
ix. Write half angle formulas for sin i and sin £ ;

X. By using the cosine and sine law, solve the triangle ABC given that b=3,¢=5, & =120°

xi. Find the value of tan™ (_./3). ©<g®

xil. Define trigonometric equation. O

xiii.  Find the solution of sec x=—2 which lies in the i 2]

Note: Attempt any Three questions. astion carries (5+5=10) marks. (10 x 3=30)

(b) Show that the roots of %?+(mx + c)? = &? will be equal, if ¢ = a’(1+m’).

-

+1
6. (a) Resolve =
x4+

into partial fraction.

(b) Two dice are thrown twice. What is the probability that sum of dots shown in the first throw is 7
and that of second is 11?

] H

a"+b
7.(a) Find ‘n’ so that -——l-———-g-—] may be the A.M. between a and b.
a"‘ + n=

(b) Use mathematical induction to prove that x+y is a factor of x*"/ + y?" x# .y,
8. (a) Prove that sin®@ —cos®@= (sin’@ — cos?@)(1 — sin*H. cos?H).

(b) If a+ B +y=180°, show that cotr . cot B+ cot B.coty +coty.cota =1

9. (a) Solve the triangle ABC in which a = 3= 1, b =3 +1 and 7=60".

(b) Prove that sin—' g — sin—! E=cos"" % C‘% pakcity.org%a

215-323-14-18500
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RoliNo.| | | | | | | (Tobefiiedinbythe candidate
Mathematics Inter (Part-)-A-2021 Time : 30 Minutes
Paper: [ Objective — (IID Marks : 20

PaperCode | 8 | 1 |8 | 6

Note: =You have four choices for each objective type question as A, B, C and D. The cholcs which you think is correct; fill that circie In front of tha
question number In your answer book. Use marker or pen to flil the circles. Cutting or filling up two or more circies will resuit no mark,

Please visit for more data at: www.pakcity.org

Q.1 Questions A B C D
o sin[%—ﬁ): D% pakcity.org%a sinéd cosé -siné ~cosé
2. | Tar (—3)= 2z =27 s, 3 =

3 3 6 3
3. | Radius of the inscribed circle is: rud r o abe . pul=d
S 4A A A
a Ff n is any positive integer, then 2" >2(n+1) —_— —_— —_ _—
is true for all. |
5. | Fhe periodof ISIT3F s: x £ = x
' 3 N N 3
6. | If sinx = -3 ,then solution is: 4t % @Qﬂ L 3x Ix x 1=
2 6 6 L[\ >/3 3 6 6 373
v4
7. | Any real number "a" is equal to: %{&Qg) (a.b) a (b,a)
_pA
b= ;
8. | What angle is quadrantal angle? %SI,ZO' 270° 60° 45°
Do
If a,b,c have thelr usual meanings then @“ _
9. | ¢t +ag*=b? o cos cosf cosy sin 8
2ac ~ '
10. -1; is equal to: ﬁy 'C "Ciy “e. -
r
oo
11.| Rank of matrix [0 1 O/ is: 1 2 3 4
000
; " a+b
12.1 If a, A,b are in A.P, then 2A is: a=b > a+b b-a
13.| If a,_, =2n~5, its nth term is: 2n+1 2n+3 2n-2 2n-8
x* +1 . : improper e
14, m is: proper fractioh Skoton identity bothB& C
1s. If one root of the equation x* —3x+a=0is2, 2 2 3 3
then a is:
16,| An equation of the form ax” +bx+-c =0 is a=0 b=0 az0 b=0
called quadratic if:
Let A,G,H be the AM, GM and HM A
7 8 -— AH
1 between a and b respectively, then G* = i Jab H
™ Aisfmarrixof'order 3x4, then the order - - i i
of A44'is:
19.| {x|xe EAd<x<6}equals: {4} {s} {6} ¢
1
20.| If cos@ = , then & is equal to: 0° 45° 60° d
7; €q 3 - 90

209-321-A-25000 % %ok
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RoltNo.[ | | [ [ | | (Tobetiiedin by the candidate)
Mathematics c@ pakcity.org %ﬁ Inter (Part-)-A-2021 Time : 2:30 Hours
Paper:I 2 $ Subjective Marks : 80
Note: - Section I is compulsory. Attempt any three questions from section II.
Section — 1
2.  Write short answers to any Eight parts. 8x2=16)
i. Find the multiplicative inverse of (ﬁ =5 )
as 7 5§ =21-10
ii, Prove that 5”18 36 L
iii. If z,=2+i, 2, =3-2i, z, =1+3ithen express i:-’-inthc form a+ib
3
iv. Write the inverse and contrapositive of conditional ~ p —~¢
v. Show 4-Band B-A4 by Venn diagram when 4and B are overlapping sets.
vi. If a and b are elements of a group G, then solve the equation xa=5
G W ; y s 23 [t §
vii. Find the matrix X if X[—Z l] le 3]
1 1 1 n 1 1
viii. Showthat|x » z|=|x ¥ =z @@
yz zx xy| |x* y* 2? @
-1 2 | 3 %@
ix. If 4=|1 4| and Ba[ " 1] showthat'(i%;{ﬁ F
2 -1 ©
x. Find two consecutive numbers, whos
Xi. Evaluate (—1+-J—_3)’ +(-1-J:—
xii. Find numerical value o the polynomial x’ +kx’ —7x+6 has a remainder of —4, when divided by x+!
3.  Write short answe any Eight parts. B8x2=16)
2
i.  Write into partial fraction form of -—4-15-—-— without finding constants.
(x' + 1) (x-1)
ii. Write into partial fraction form of —,1——-— without finding constants.
(x=1) (x’ + 2)
iii. If a,_, =3n-11, find nth term of the sequence,
iv. Find the Geometric Mean between -2/ and 8i.
v. If y=142x+4x*+8x’ +... show that x-yz_l
vi. Find 8™ term of H.P; =, 4,5, ..
Tﬂ 2'5'8
= . 52.51.50.49 . .
. Writ .
vii fite == in the factorial form
viii. Find the value of » when "2, =11.10.9
ix. Find the value of »n, when "C, = "C,
X. Show that the inequality 4" >3" +4 is true, for integral values of n22.
xi. Calculate (9.98)' by means of binomial theorem,

xii.

-1
Expand (1+x)7 upto 4 terms.

(Turn Over)
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Roll No.
Mathematics (INTERMEDIATE PART -1, Class 11" ) - (111)
Time: 30 Minutes Objective Code : 6195
Note:

10.

Annual 2019
Paper: I
Marks : 20

You have four choices for each objective type question as A, B, C and D. The choice which

you think is correct, fill that circle in front of that question number. Use marker or pen to fill the

circles. Cutting or filling two or more circles will result in zero mark in that question.

- If @ is cuberoot of unity, then (l+w-o’)= ‘a@ pakcity.org %C’

(A) -8@ (B) 8w © (D) -8
f’(_:-)l will be proper fraction if degree of p(x)is
4 1 (B 2 (©) 3 (D) 4

The series a+ar+ar’ +— o

a)  w>t ®  jz1 ©) = (D) Ir| <1

A,G,H, are in @

(A) A.P (B G.P (C) H.P t@ﬁncs
SN

For an event A, range of its probability P (A) %

(A) -1 P(A) =1 (B) (C©) 0=P(M<]

If "¢ -%,=0, thenn=

(A) 0 4 ©) 6
(1+i)f =
A) 2 (B) 4 (C) 8 (D) 16

The conjunction of two statements p and ¢ is denoted by

(A) poyg B) p—g ©) g->p (D) PAg
la b c d _

It 5 =2 then 8 bl—

(A) 2 (B) -2 (C) 2 (D) 0

If |4]=S, then|d'|=

(A -5 (B) © o ™) 5

L
5

. No. of roots of the equation (x-4)? = x* -8x+16 are

(A 2 (B) 4 (©) 8 (D) infinite

(D) P(A)=1

™ 9

(Turn Over)
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12.

]

13-

14,

15.

16.

L7

19.

20.

Sahiwal Board-2019

In an equilateral »4BC o@ pakcnty org %o
(A) n>n rn<n (D)
With usual notations a+b-c=
(A) 2s (B) 2s-2¢  (C) s=2b (D)
Sin™(0)+Cos™(0) =
w Z ®m I © z o
If Sinx= Y3 . then x=

2 S

w = (B) hid .ﬁ (D)

@m

[f n is even,middle term of (a+5)" @

A Eyhterm (B) @m term (©)
2 52

2™ term of (a+b).

{%l—}rh term

(A) a’ (B) 7ab*® © Ta®h (D)
Tan(a ~90°) =

(A)  Cota (B) -Cota  (C) Tana (D)
%rad is an angle.

(A) acute (B) obtuse C) straight (D)
Period of -;-sin 2x is

(A) = ® = ©) 27 (D)

211-319 - 22000

n+=n

25=2a

P

(D) (ﬂ;—g‘)m term

Tab

~Tana

reflexive

ar

L
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Roll No. Annual 2019
Chemistry (New Scheme) (INTERMEDIATE PART-1) Paper: 1
Time : 2 : 40 Hours ~ Marks: 68 i
Subjective .
Note :- Section I is compulsory. Attempt any three (3) questions from Section II. c@ pa kClty.Ol'g %ﬂ:
( Section 1) 3 $
2. Write short answers to any Eight Parts. (8x2=16)

i. N, and CO molecules have equal number of protons and ncutrons. Justify.
il. Mg atom is twice heavier than C-atom. Why?
iii.  What is justification of two strong peaks of almost equal heights in thc mass
spectrum for Bromine?
iv.  How crystals are dried in vacuum desiccator?
v.  Why fluted filter paper is used for grecater rate of filtration than ordinary cone filter paper®
vi.  Write any two characteristics of plasma.
vil.  Why real gases deviate from ideal behaviour?
viii.  Define Avogadro’s Law. How many molecules of an ideal present in 22.4dm’ at STP?
iX. -273.15°C isknown to be the lowest temperature of an ideal g@% ason.

X.  Relative lowering of vapour pressure is indepen ftemperature. Justify this statemen

xi.  Define hydrolysis. Give chemical equation rolysis of ammonium chloride.

xii. Define molality. Give onc of its math al expression.

Write short answers to any parts. (8x2=16)

1. Cleavage of the crystals is i On isotropic behaviour. Justify.

ii. How liquid crystals ed to locate veins, arteries, infections and tumors?
iii. Lower alcohols are soluble in H#,0 but hydrocarbons are insoluble. Give reason.
iv.  Why graphite is good conductor of electricity but diamond is bad conductor of electricity’
v.  Give two importances of Moscley Law.
vi. State Heisenberg's uncertainty principle.
vii. Differentiatc between orbits and orbitals.
viii. How the dual nature of electron was verified?
ix. How acidic and basic buffers are prepared? Give onc example of each.
x. State Law of Mass Action.
Xi. Define activation energy and activated complex.

Xil.  How does the increase of temperature increases the rate of the chemical reaction.

( Turn Over)
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ii.
iii.

iv.

vi.
Vil.
viii.

iX.

Note:

(b)

(b)

(b)

®)
9. (a)

(b)

Sahiwal Board-2019

Write short answers to any Six parts. (2x6=12)
Why did the atomic Radii cannot be measured precisely?

In NH, bond angleis 107.5" butin NF, itis 102°. Explainit.
NI1, can form coordinate covalent bond with /. Explain!
Oxygen molecule is paramagnetic in nature. Justify!
Prove that aE=g,.

Define the terms Heat and Work.

A salt bridge maintain the electrical neutrality in galvanic cell. Explain.

Define standard electrode potential? Q

Write down chemical reactions taking place in aattery.
(seton -1

%l. Each question carries 08 marks.(3x8=24)
s involved in the identification of limiting

Attempt any three (3) questions from
Define limiting reactant. Write difT

reactant. How does it control th of product formed in chemical rcaction.

: ; S -
Describe manometric me; r the measurement of vapour pressure of a liquid.

vdrogen effuses four times as rapidly as 250cm’ of an
ate the molar mass of unknown gas.

Derive the equation for the radius of nth orbit of hydrogen atom using Bohr's model.

Define hybridization. Explain sp’ hybridization with the example of methane (CH,).

How enthalpy of reaction is detenmined by glass calorimeter?
N,(g) and H,(g) combine to NH,(g). The valueof K_ in this rcaction at

500°C is 6.0x107*, Calculate the value of X for this reaction.

Describe the homogeneous and heterogeneous catalysis with one example of each.

Write note on (i) Hydration (i1) Hydrates

Explain the construction of fuel cell, o@ pakcity.org @n

214 -319 -27000
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Mathematics (INTERMEDIATE PART -1, Class 11" )- (IV) Paper : 1
Time: 30 Minutes Objective Code : 6197 Marks : 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which
you think is correct, fill that circle in front of that question number. Use marker or pen to fill the

circles. Cutting or filling two or more circles will result in zero mark in that question.

- 1 3 " :
l. i (n’:,-)l is always equal to o@ pakcnty.org%»

(A) P, (B) c, © P, (D) e

. If 1/a . 1/b and 1/c are in G.P then common ratio is equal to:

(A) + < (B) 12 ©) tJatc ()  ta-c

a c

iii. Sum of n- arithmetic means betweena and b isequal to:

A) : (®) = © ,&Q n(===)
4 B . . . éﬁo

. x—_—l-+ ;T is a partial fraction form of the proper fra%g@

iv.

©
) ! 1 & 1 1

Please visit for more data at: www.pakcity.org

R D
r o » ) ‘258 - N
<o
V. If “x-2"isa factor of polynomi +2x* +kx+4 thenk equals:
(A) 10 ( -10 ©) 2 (D) 4
vi. The sum of all cube roots of unity equals:
GV (B) w © 0 (D) o'
& 1 2 3x
vii.
Let A=|2 3 6x| then |4| is equal to:
3 5 9
(A) 1 (B) 3 ©) 2 (D) 0

vill. If A is a square matrix and 4’ = 4, then A is called

(A) hermitian matrix (B) skew hermitian matrix (C) symmetric matrix (D) skew symmetric matrix
ix. If ‘p’is alogical statement , then pA ~ p is always:

(A) absurdity (B) contingency  (C) tautology (D) conditional
X. If (x+iy)’ =a+ib then x*-)? equals:

(A) a’ +b’ (B) a’ - b’ (C) a-b (D) a+b
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Period of Cot x/2 isequal to:

X1
(A) 2z (B) 4r (C) /4 (D) 3r
A coin is tossed twice then probability of getting all heads equal: c@ pakcity.org %.3
xii. (A) 172 (B) 1/3 ©) 1/4 (D) 2/3
Xiii- LI b = is called
Sina  Sinf Siny
(A) Sine law (B) Cosine Law (C)  Tangent law (D) Fundamental law
Dj .
S XIV. If «, fand y are angles of triangle ABC, then cos(a+ﬂ) will be equal to :
2>
= ,
= Sina (B) Siny (©) Sin= (D)  SinB
=
2 @@
g XV. In an oblique triangle ABC, if a=2 and a=30", the %@m radius * R’ is equal to:
s Q
T (A) 4 (B) 3 @@ 1 (D) 2
&
ng:. Sin™' [A\/l B+ BI- A ] is equal to@@
g o
= (A) Cos'A+Cos™B (B) 0s'A-Cos™B  (C) Sin"'A+Sin”'B (D) Sin"A-Sin™'B
Oxvii.
= The solution of Sinx = = in interval [0,27] equals
>
o ;
4r 27 4r Sz T Sw dr n
7))
A —,— B —_— 3 —— D —_
g @ 373 ®) 373 &V s ®) 373
E ew
S Second term in the expansion of (\/; +2—15-)'° equals:
A
(A) 571 (B) 10x?" ©) 10x*? (D) 527
XiX. If the number of terms in the expansion of (a+5)" is 16 then ‘n’ equals
(A) 18 (B) 16 (©) 17 (D) 15
xx. Length 'I' of an arc of a circle with radius r and central angle & is equal to :
1
(A) r’é (B) ré (C) ro? (D) 5’26
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Sahiwal Board-2018 g1 no. Annual 2018
(INTERMEDIATE PART -1, Class 11" )

Mathematics Paper : 1
Time : 2:30 Hours (SUBJECTIVE) Marks : 80
Note: Section I is compulsory. Attempt any three (3) questions from section 1I.
(SECTION-1)
4 Write short answers to any Eight parts : D@ pakcity.org %ﬁ (8 x2=16)
=1_5 _-21-10
i. Provethat 12 18 36
2- 2-7i
il. Separate 4+5i into real and i imaginary parts.
iii. If Vvgz,zeC provethat z+2z,=2+z .
iv. Show A-B and B-A by Venn diagram when A and B are overlapping sets. (1+1=2)
v. Show that the statement ~ (p = ¢)— p is a tautology.
vi. Find the inverse of the relation{(x, y)/y =2x+3, xem} .
_[2 3 —2} | _[2 -3 1]
Y Solve the matrix equation 3X-2A=B. If L1 1 51 ang 5 4 -l
|'1 -1 ] g _[1 0 ]
vii. 1£%7|a b Jand? L0 1] find the values of a d b,
iX. Deﬁne co-factor of an element of a matrix .
X Solve by completing square  x' =3x-648=0
Xi. Solve the equation : X’ +8=6x" 2 %
xil. Show that ¥’ -y = (x - y)(x- @y)(x - & ere wis the cube root of unity.
3. Write short answers to any Ei ts (8x2=16)
xt+1 @
I Resolve x' -1 into parti tion. (1+1=2)
11 JZ
i, 10227 ara : g,
If a b ¢ arein show that common ratio is Y€ . (1+1=2)
ii. Whichtermof AP 5,2, -1, ....... is -85? (1+1=2)
iv. Define G.M between two numbers ‘a’ and ‘b’ and show that
(G.M) geometric mean = t/ab (1+1=2)
y=2
X =
Vo Inseries Y=1+2x+ax’+8< 4+, iowthat 2V (1+1=2)
Vi If @=-2,6=-8 find G and H, also show that G < H for (G < 0) with
usual notation. (1+1=2)
11 n=)
V".l" Prove that Pr="""Pri  where p ispermutation.
vii. How many necklaces can be made from 6 beads of different colours? (1+1=2)
1x. How many triangles can be formed by j joining the vertices of polygon
having 8 sides? (1+1=2)
X- Showthat 1 +2+4+...+2" =2"-] istrue for n= 4 | §, (1+1=2)
Xl Show that #*+n is divisible by 2 forn =2, 3. (1+1=2)
Xii. (2-3x)""
. Expand up to three terms. (1+1=2)

ii.

Write short answers to any Nine parts : =
tanz/3-tanz/6 ? (9"‘2-18)

Evaluate !*tanz/3 tanz/6
Cosf-Sin® Cotf-1
Prove that Cos@+Siné Cotf+1




iil.

iv.
V.
Vi,
Vii.
Viil.
iX.

o

o

> X

g2

© Xi.

Q

= xii

S

£

i XI111.

®

®

Note:

%. (a)

o

£ (b)

5

)

>

P

. (a)

O (b)

7. (a)
(b)

8. (a)
(b)

9.(a)
(b)
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(Cosf—tan 8) = (-5int) c%pakc:ty org@a

Prove that 1+ 5in .
By using fundamental law of trigonometry, show that Sin(z/2+a)=Cosa

Sin(45° +a) = 715—(81':1:: +Cosa).

Prove that

Find the period of Cot 8x .

Find that value of Cos2a forCosa=3/5where0<a<n/2

If g=60",y=15",b= J6 then find ¢ and @ for any triangle ABC.
Find the area of trlangle given two sides and their included angle,

a=433 , b=925 =564

Show that r, =+ tan%.

Find the value of the expression Cascc(tan" (—!)).

. . 3 [0,27]
Find the solutions of sinx= ‘/; in : @@

Q9+2\Etan6+l=0.

Find the value of ¢, satisfying the equati

Attempt any three (3) questions: (3X10=30)
Convert 4Y(BNC)= (AUB)”(@@ to logical form and prove by constructing
truth table. (2+3)
Use Cramer’s rule to the system:

2%, =X, +x;,=8

X +2%,+2x,=6

X =2% =% =1 (2+1+1+1)

x° (mn+c)® _
Prove that @’ b? will have equal roots, if ¢ =a’m' +b (5)
Resolve into partial fraction:
x'+2x+2
(x* +x+1)? (5)
Find the sum of an infinite series 7 *( +)Y + A+ k+E)P + (%
(1+x)’
Find the co-efficient of x" in the expansion of (! -x)° 5)
tan @ +sec -1
=tanéf +secd
Prpve that tan @ —sec & +1 (5)
Reduce 5 @ to an expression involving only function of multiples of ¢,
raised to the first power. (5)
Prove that:  abc(sina +sin B +siny)=4as using usual notations. (5)
sin™ -2--!- sin™ L Cos™ 233

Prove that 13 13 325, (5)
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